N = 0l & At & M A

2AHA: =50
HH: WHRES(=T)

ol BEXE (chel & 9l)
SA- BB (3AH) - NRAY - BAS Of 4 o JEL HRZ2
=S 3,695,081 3,690,974 4,107

s 450,000 450,000 0
Al 3,245,081 3,240,974 4,107
Hees(==n) 1,004,107 1,000,000 4,107
RSN 4,107 0 4,107
ExZerE 4,107 0 4,107
802 g+&+ 3 JI EF 4,107 0 4,107
02 Al - SHIEXZEHEZ 4,107 0 4,107
O1 AISHIEEZ= AIS&NH 4,022 0 4,022

>20183 & StOthlofl M=Z 3t At
4,021,290 & * 14 4,022 0 4,022
O1 AESHIEX3 OlRtBtE 2 85 0 85

[

>2018E &= StItIlol MEZ3t At
84,0703 x 14! 85 0 85




